SVC | GEE=#aRE#En<E
7 A
g MSZ Z 7l

FRERE
fir 4% (mm) 10 20 [ 30 50
i i =5,
SHERA W 3h
I 8 R 1.0MPa
AR AH T 0.2MPa
IR R Al S 0 ~60°C (REEUK)
oty Jo
SIFEIE 7mJ 25md | 48md | 8imJ
£ RE R 15V 0~190°
e ) o7 5 98 173 +10°
e e 12 s ] 7 [ 0.2 ~1.0s/90°
0.5MPa 574 2414 Nom 0.9 1.8 2.7 4.8
* AR > TARLRFE BEEOR M5 x 0.8
* = JHE LN B Al AL
*Ar AR o AT A VIR K0 ~ 1907) 0 JTH 24451
(] 7 4TS +10° 1) #9461 1.5Nm > (7€ 0.5MPa JE I F)
* HUAG — H = A0 T30 B R (i R 3R R AT s EHE : MSZB20A
= E 2) HEHN  250N(b)
IERRTLS © MSZB30A
e R T R R
BERE XIRE | WEFEDS
.y 10
SHEER MSZ A [10] [A]-[MONL 20 | DhooL DO
30 i )
B MSZ B Al-[ | o | D-A%L
VE) R IF S e BT 2 G T
[ABIPS 8 %2 75
KRS Ties- 2 4
_10 [ @10mm S -14
A 220mm n NS @Eﬁ
30 | 230mm
_50 | @40mm BT =
LS - A E T %E B
AL fo VAT R s R - [5T]
*ﬁk‘&ﬂ}&%é}f%ﬂ:&gg ‘//' —
o R ol
o WIES 0 Eﬂg & eﬂ a\ ¢ £
i @EEﬂB o\o~e e/ ot
§§ 2]
|
PRLSE:; 2]

* (a) (b)
EXR | SRR | EXE | 5RE | EXE8 | 3R | £E18 | 5RR
10 78 86 74 74 78 107 2.4 2.9
20 147 166 137 137 137 197 4.0 4.8
30 196 233 197 197 363 398 5.3 6.4
50 314 378 296 296 451 517 9.7 12.0




“MEEMEANXEEENSRE : MSZ R5

IEECEEL | BECERTSE |
S Nem AERATERME
KIRE | BHESE £ (MPa) R o
02]03[04|05[06|07|08[09] 1 R a
10 s — i) |0.38(0.60(0.83(1.06(1.28|1.511.73|1.96 [2.18 -
1| — %% |0.29]0.50(0.70{0.90(1.10|1.30|1.51|1.71[1.91
00 uE — ] |0.72(1.14|1.55(1.97|2.39|2.81|3.22|3.64 |4.06
| — ¥ |0.62(1.01[1.40(1.78(1.17|2.56|2.95|3.34|3.73
30 Uit — 1] |1.09[1.72]2.36(3.00|3.63|4.27|4.90|5.54 |6.18
b — 3 |0.91(1.49(2.07|2.65|3.23(3.81|4.394.97|5.55
50 big — EPli] e e 4.84|5.84|6.85|7.85|8.85|9.85
HE] — i 4.75|5.74|6.74|7.73|8.72|9.72
) e s ERE
]
{8

Rkt 190

FERSER RERESE
() 3 3 I @ W 4 398 s - i o7 8 52 for
e Ot 108 S (@) 7 b S50 S A1 1 3 1 752
HEZIEEIE @ Ei

o ] I S c, o S R e o 2

ExE : MSZB

}

R 5t R A
v

18




“MEEMEANXEEENSRE : MSZ R5

SMEIRTE (EK)

HEAR /MSZB[ A

8xWDWE (585 4))

AX

4xJJIR8

2xJifi L

JALIAJIB

2 e
R X
o
\/ e
:ﬁ.@ & o] o] |
P
> N M We
< < ;
BB
m
oDD i
oD IS
|
AR
4xM5x0.8 cA  co oDE w
A 4A \
(EERE) o T T
m i =
ol Q\TJJ _ o 35
jgims — — L (e]p=)
2JU —d
oxdV oDFGiE1L) %)
AA SD oDG IBA g
A (mk=SU) S =
fu
2xJCHJD
EERE
= 1
SiEER / MSZA[L 1A
oDI
oDH
oDJ
i TS b <
- . o
o
>
(mm) = =]
KX/NXS|DH | DI | DJ | DK | DL | FE | HA | UV f%r—
10 | 45h8 | 46h . . * N
6h8 |20H8| 5 |15H8| 10 | 18.5 | 52.5 oDKGETL
20 [60h8|61h8 |28H8| 9 |17H8| 155 | 26 | 63 DL
30 |65h8|67h8 |32H8| 9 |22H8| 165 | 27 | 67
50 |75h8|77h8 |35H8| 10 |26H8| 17.5| 30 | 76
(mm)
XMS| AA| A | AV |AW [ AX | AY [ AZ |BA | BB |BC |[CA|CB|CC| D |DD |DE | DF |DG| FA | FB [ FC | FD | H J JA | JB
10 |247| 50 | 14 | 17 | 8 7 1 | 95| 60 |27 | 7 7 | 38 |45h9|46h9 |20H9| 5 |[15H9| 8 4 3 | 45| 13 |68 | 11 | 65
20 (324| 65 | 17 |185| 10 | 8 |12 | 12 | 76 | 34 | 81 | 10 | 50.4 [60h9|61h9 [28H9| 9 |17H9| 10 | 6 | 25 [ 65 | 17 | 86 | 14 | 85
30 |[347| 70 | 17 |185| 10 | 8 |12 | 12 | 84 | 37 | 105|105 | 535 [65h9 | 67h9 [32H9| 9 |22H9| 10 | 45 | 3 [ 65 | 17 | 86 | 14 | 85
50 [39.7| 8 | 19 | 21 | 12 | 10 | 1.6 | 155 | 100 | 50 |12.4 | 125 | 60.6 | 75h9 | 77h9 |35H9 | 10 |26H9| 12 | 5 3 | 75| 20 |105]| 18 | 105
(mm)
KRS Jc JD JJ Ju JV Q| S [SD|SU|UU|WA|WwWB|WwC wD WE | WF [ XA | XB | XC | YA | YB | YC
10 M8x1.25 | 12 | M5x0.8 | M4x0.5 M10 x 1 34 [1325| 50 [27.3| 47 | 15 |3H9 | 35 | M5x08 | 8 | 32 | 27 |3H9| 35 | 19 [3H9 | 3.5
20 M10x1.5 | 15 M6 x 1 M5x0.5 |Mi12x1.25| 37 |168.5|63.5| 39 | 54 | 20.5| 4H9 | 45 | M6x1 10 | 43 | 36 [4H9 | 45 | 24 [4H9 | 4.5
30 M10x1.5 | 15 M6 x 1 M5x0.5 |Mi2x1.25| 40 | 184 | 69 [36.4| 57 | 23 | 4H9 | 45 | M6x1 10 | 48 | 39 [4H9 | 45 | 28 |4H9 | 45
50 |M12x1.75| 18 | M8x1.25 | M6x0.75 | M14x1.5 | 46 |214.5| 78 | 42.4| 66 |26.5|5H9 | 55 | M8x1.25 | 12 | 55 | 45 [5H9 | 55 | 33 [5H9 | 5.5

19





